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1. The biggest Harappan site in India is
(A) Rakhigarhi
(C) Kalibangan
H@qﬁ@ngGHQEQFwa%
(A)
(C) wrefiam™

[N

(B) Dholavira
(D) Lothal

(B) wlewdiu
(D) <nus

2. The Rigvedic tribal assembly associated with judicial function was

(A) Sabha
(C) Vidhata

FAfGh S GHT S 1R ) § e off

(A) &
(C) faveman

3. “Yamaka” belongs to the Buddhist “Pitaka”

(A) Sutta

(C) Abhidhamma

“awer’ g foee’ @ wEfia @
(A) €

(C) Afuerm

(B) Samiti
(D) All of these

(B) wfafa
(D) Iwfaa # 4 &f

(B) Vinaya

(D) None of these

(B) T
(D) sugea & § +I§ 7

4. The Chinese Pilgrim who visited India in the early 6" century was

(A) Ywan Chwang
(C) Sung Yun

=t e e 331 sarsd) # wRa g3 TR

(A) ZTH =&
C) gy

(B) Fahien
(D) I-tsing

(B) wiga™
(D) amgfem
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5. The Chalukyan ruler Pulakesin's victory over Harsha was in the year

(A) 612 A.D. (B) 618 A.D.
(C) 622 AD. (D) 634 A.D.
AT WG Geloh (6 ol B T forsry 1 ad o

(A) st 612 (B) st 618
(C) &= 622 (D) =it 634

6. The earliest reference of the use of magnetic compass in the Indian seas was by
(A) Marco Polo
(B) lbn Battuta
(C) Sadruddin Muhammad “Aufi”
(D) Nicolo Conti
gm@a%ﬂwwwmﬁwhﬁwﬁwwwmﬁnﬁ ?

(A) HTeRT TG
(B) & S
(C) goxdN germg ‘o’
(D) frrren it
7. The first true arch in the Sultanate memorial could be seen in
(A) ltutmish’s Tomb (B) Tomb of Balban
(C) Alai Darwaza (D) Quwwat-ul-l'slam Mosque
oI Fredrae TeCE oy Heddehiel e H i ? 7
(A) SoqaraRl s Hehel (B) SIET&H ohT HehsRI
(C) TS ST (D) A 3™ AieTg
8. The most orthodox Sufi order was
(A} Chishti (B) Suhrawardi
(C) Nagshbandi (D) Qadiri
Fifa Feex 5t Tl gueE o
(A) o (B) geuaRl
(C) Famreel (D) wifedt
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9. The pure silver “rupiya” was issued by
(A) Akbar
(C) Jahangir
76 Y o1 w9 T TR foRe R ¢
(A) HsT
(C) STEmR

LR

(B) Shershah
(D) Aurangzeb

10. Match the following texts with their authors and select the correct option :

a) Hagaig-i-Hindi
b) Tahdhibul Akhlaq
) Kunzal Tijar

d) Jawamiul Hikayat
)

)

i) lon Miskawayh

ii) Sadruddin Muhammad “Aufi”
iii) Abdul Wahid Bilgrami
iv) Bailaq al Qabayaki

i) 37 fereprfern

i) Gewedd germg S
iii) 3rege arfes feremm
iv) ek 3TeT HERITEH

(A) a—ii b-i c—iv d-i
(B) a—ii b—-iv c—i d —iii
(C) a—iii b-i c—ii d-iv
(D) a-—i b—ii c¢c—iii d—iv
frrfrer Rl = s oraw & g won w2 § & 3w gh
a) eFeh TRt

b) dESIE ITEATh

c) T fosin

d) Srenfiea fesmrg

(A) a—ii b-i c—iv d-—ii
(B) a—ii b-iv c—i d — iii
(C) a—ii b-i c—ii d-iv
(D) a—i b—ii c—ii d-iv

11. The princely state of Baghat was annexed to the British in

(A) 1848
(C) 1852
syarra fearaa o1 fordien o forer shet gt 7
(A) 1848
(C) 1852

(B) 1850
(D) 1853

(B) 1850
(D) 1853
Set-A
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12.  Who among the following participated in the Salt Satyagraha of Gandhi ?

13.

14.

(A) Sarojini Naidu

(B) Rajkumari Amrit Kaur

(C) Kamladevi Chattopadhyaya
(D) All of these

frforfad 3 Q Fra il o wwen otidiem § smT forn 7

() wAf g

(B) TSTFHT 33T N

(C) shHcTeEl TgTear™

(D) Iwded o & afi

The “Pakistan Resolution” was drafted by
(A) Rehmat Ali

(B) Sikandar Hayat Khan

(C) Muhammad Ali Jinnah
(

D) Fazlul Haque
‘o weTE | o) wRET foRed dar i ?

The British Monarch at the time of Indian Independence was
(A) George V

(B) George VI

(C) King Edward VI

(D) None of these

TR Taad] o gHg TS HERIS o

(A) TSt 9=m

(B) SISt wegH

(C) T Tgag awd

(D) 3w H @ =i e

GS -1
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15.

16.

17.

18.

Mountbatten Plan (June 1947) provided for a referendum in which of the following
province(s) ?

(A) Sindh (B) Baluchistan

(C) North-West Frontier Province (D) Al of these

WPV ASHT (S 1947) 3 Frefafaa & @ fora (foF) wia (sat) & <ves Frofared wregfar <t oft 7
(A) fau (B) seffsred™

(C) IW-ufwm Hra Wi (D) Iwfad # 9 |sft

Which of the following pair is not correctly matched ?
(A) Total area of India — 3.28 Million sg.km.

(B) Latitudinal extent — 8°4’ N — 37°6’N

(C) Longitudinal extent — 68°7’E — 97°25’'E

(D) Number of states in India — 26

feffaa i d @ s W e aft At € 7

(A) G 1§ &%l - 3.28 fufera o fereifier

(B) WRd w1 enefi faeam - 8°47 3. & 3796 3.

(C) ¥R =1 t@ieia foed® - 68°7 4, - 97°25'Y,

(D) wRE ¥ TSl A FEAT - 26

Name the place in India where Bay of Bengal, Arabian sea and Indian Ocean meet.

(A) Kanyakumari (B) Indira Point

(C) Nagarkoel (D) Rameshwaram
YR 1 98 I H1 T 2 S S ) W, o AR e g wernr fer § 7
(A) HaTEAR (B) 3T wrge

(C) ATTEhIT (D) THEY

Where does India rank in area among the countries of the world ?
(A) Fifth (B) Sixth

(C) Seventh (D) Eighth
e R IR A A @ F g e mwm g ?

(A) =T ’ (B) ®af .

(C) sl (D) 3maat
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19.

20.

Consider the following relief features :
1) Mahadev Range

2) Maikal Range

3) Chhotanagpur Plateau

4) Khasi Hills

The correct west to eastward sequence of the above relief features is
(A) 1,2,3,4 (B) 4,3,2,1
(C) 2,3,4,1 (D) 1,3,2,4
Frferfaa searea snsfidt W sm AR

1) WeERd wEd Fae

2) Aebrer e @l

3) B TG TSR

4) wrE ) gerteEt
Il ITTa STThTaE! ol IfTH | g9 Y 3TN I5d U Rl hH T30 :
(A) 1,2,3,4 (B) 4,3,2,1
(C) 2,3 4,1 (D) 1,3,2,4

Which one of the following pair is correctly matched ?

Rivers States
(A) Indravati Jharkhand
(B) Bhima Tamil Nadu
(C) Luni Rajasthan
(D) Ghatprabha Kerala
ffefeadd s o ST w2 7

EEL T
(A) FsTad FREUE
(B) sfmm e
(C) = TSTERT .
(D) wewHI A

GS — 1|
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21.

22.

23.

Average annual rainfall range in Jharkhand is

(A) Between 60 to 100 cms (B) 100 to 200 cms

(C) 200 to 300 cms (D) More than 300 cms
v # arfie aui Sfatd ¢

(A) 60 ¥ 100 FHIT & we (B) 100 ¥ 200 ¥=diHiet o 7eq
(C) 200 & 300 AT & wed (D) 300 =i ¥ A

Which one of the following pair is not correctly matched ?

Area Important Resources
(A) Kolhan Mineral Resources
(B) Kutch Forest Resources
(C) Malabar Coast Water Resources
(D) Middle Ganga plain Soil Resources
frferRed # @ #1791 ST wE 7 8 7

& HEA HETeH
(A) ®TegH CIES AR
(B) o EERCCILE
(C) AEER 2 ST T
(D) A& M AT & HETeH

Which one of the following pair is correctly matched ?

Area Main Economic Activity
(A) Laddakh Cotton Textiles
(B) Dandakaranya Cultivation of Jute
(C) North Bihar Sugar Industry
(D) Royal Seema Tea Plantation
feffag i a AT ST wel 2 7

e g i ferameea
(A) R e awira
(B) QUEHRTY T A FN
(C) 3wl ferem < 3 -
(D) Tga € T S FRTH

8 Set-A



U AR | | GS - |

24.

25.

The correct sequence of population density from high to low in the following States of
India as per 2011 census is

(A) Punjab — Bihar — Jharkhand — Uttarakhand

(B) Bihar — Jharkhand — Uttarakhand — Punjab

(C) Bihar — Punjab — Jharkhand — Uttarakhand

(D) Punjab — Bihar — Uttarakhand - Jharkhand

s 3 et Tt 3 39 @ e SHEE T &1 2011 Sh SEIUET 3 STER A€ wH T

(A) TS - e - - ST

(B) TorgR-erRETs -ITREvs - die
(C) forRR-usTe-FRErg-3TErs
(D) TSITE - forgm - ITEvs - 9@

Match List — | with List — Il and select the correct answer using the codes given below the
lists :

List-1 List-1i
Tribes Native States
a) Tharu 1) Rajasthan
b) Bhil 2) Himachal Pradesh
c) Gaddi 3) Jharkhand
d) Munda 4) Uttar Pradesh
Codes :
a b c d
(A) 4 2 1 3
(B) 1 3 4 2
(C) 4 1 3 2
(D) 4 1 2 3
ajﬁ—lﬁlﬁff—Ilﬁgﬁ%aaﬁmaﬂtg%ﬁ%ﬁﬁqm{am-mwaﬁwgﬁm
et - | il
AT > T
a) 9re 1) =Y
b) & 2) femrad wew
c) T 3) FRETS
d) qer 4) ITIR
%< :
a b c d
(A) 4 2 1 3
(B) 1 3 4 2 )
(C) 4 1 3 2
(D) 4 1 2 3

9 Set-A
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26.

27.

28.

Which Constitutional Amendment bifurcated the Combined National Commission for
Scheduled Castes and Scheduled Tribes into two separate bodies ?

(A) 42 Amendment

(B) 44" Amendment

(C) 89" Amendment

(D) 937 Amendment

ST ST 3 S ST ) S T ST 3 e e & st @ sta S
Fafamaneg ?

(A) 42 3 geneH

(B) 44 3 G

(C) 89 d &

(D) 93 9 TEned

How many Parts, Articles and Schedules was there in the original Indian Constitution ?
A) 22 Parts, 395 Articles and 8 Schedules

B) 24 Parts, 450 Articles and 12 Schedules

C) 22 Parts, 390 Articles and 8 Schedules

(D) 24 Parts, 425 Articles and 12 Schedules

1 IR FiIe™ 7 fora v, T3=ag 3R oreEh 9 7

(A) 22 T, 395 =T IR 8 I

(B) 24 wAT, 450 3TT<R8 3R 12 g

(C) 22 ¥, 390 F=E N 8 e

(D) 24 W, 425 TS 3R 12 T

(
(
(

In which Amendment was the evil of defections from the political parties in India enacted ?
(A) 52" Amendment (B) 54" Amendment

(C) 56" Amendment (D) 58" Amendment

Rd N T-iferer 3l @ Soteae i §US ol ford Tuiie o Sila Stfuf-aia frm mn e 7

(A) 52 9 ganes (B) 54 3 HMEA

(C) 56 d |mga (D) 58 o &MY

10 Set-A
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29.

30.

31.

Under which Article of the Constitution of India, Taxes are levied and collected by the centre
but distributed between the centre and the States ?

(A) Article 268

(B) Article 269

(C) Article 270

(D) Article 271

W%ﬁ%ﬁﬁ%ﬂﬁﬁﬁﬂﬁﬁﬂmamwﬁmﬁmm%?ﬁ#www

¥ o fafa e ST @ 7

(A) T 268
(B) 31g=R 269
(C) IF=% 270
(D) ¥FF=R% 271

Which of the following is not a feature of good governance ?
(A) Accountability

(B) Transparency

(C) Rule of Law

(D) Red Tapism

frer 3 @ F geme A kv A 2 7

(A) SEERE

(B) UT&RI

(C) i b1 fram

(D) <t faremel

Who rejected the ‘Principles of Administration as myths and proverbs’ ?
(A) Herbert Simon
(B) Dwight Waldo
(C) Frank Marini
(D) F.W. Riggs
Fropat 3 e 3 w9 & wenen & g 1 Fre sreefienr B e ?
(A) T @TEEd
(B) goe AT
(C) ¥ Afch ’
(D) . T, fom
11 Set-A
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32.

33.

34.

“The State is everywhere : it leaves hardly a gap.” This statement explains the concept of
(A) Welfare State

(B) Communist State

(C) Democratic State

(D) Police State

‘U BUIIR R ;IR 31T YT €1 S SiSal & | 98 daded fohE RN sl sqnedt o § 7

In which Report of the Second Administrative Reforms Commission barriers of Good
Governance in India have been identified ?

(A) ‘Ethics in Governance’

(B) ‘Citizen-Centric Administration : The Heart of Governance’

(C) ‘Promoting E-Governance’

(D) ‘Local Governance’

T TRl ST 6 R IR Y v e 6 el wgEH R R 7
(A) ‘s o e’

(B) ‘TRieh-hizad TRIEH : ITEA & HeRferg

(C) ‘S-vmad i wgra

(D) ‘“curfim wmE’

Under which Article of the Indian Constitution is the District Planning Committee constituted ?
(A) Article 243 ZD
(B) Article 244 ZD
(C) Article 242 ZD
(D) Article 243 ZE

R |G % 9 § 317988 H T5tel A afird) &1 7137 g 7 7

(A) =87 243 ZD
(B) 37 244 ZD
(C) 31feas 242 ZD ’
(D) 31g<a% 243 ZE

12 Set-A»
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35. Match the following :

List -1 List—1I

(Year) (Committee)
1) 1949 - 51 a) Locah\Finance Enquiry Committee
2) 1953 54 b) Taxation Enquiry Commission
3) 1963 —66 c) Rural-Urban Relationship Committee
4) 198588 d) National Commission on Urbanisation
Codes :

1 2 3 4
(A) a b c d
(B) b C d a
(C) c d a b
(D) d c b a

Shifeat sHTT :

T - | ]

(=) (W)
1) 1949 — 51 a) e fom st wfafa
2) 1953 - 54 b) UL S TR
3) 1963 — 66 c) -l Ty |l
4) 1985 - 88 d) Ed W U A
e ¢

13 Set-A
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36.

37.

38.

The recommendation of the 14" Finance Commission for increase the share of net
proceeds of union taxes between centre to states has been fixed at

(A) 32 percent
(B) 37 percent
(C) 42 percent
(D) 41 percent

eed fom s et & Stem o defi i o el o1 o few, s @ U % 1y gfig & fom
fafvera o T @

(A) 32 s

(B) 37 yfuwrd

(C) 42 yfmema

(D) 41 vfewa

National Green Tribunal (NGT) was established by the Government of India in
" (A) 2008 (B) 2009

(C) 2010 (D) 2011

Ty 1 fesga (wa.s01.3).) i weenr g wenfa fema T o

(A) 2008 (B) 2009

(C) 2010 (D) 2011

Which of the following is not true for India to combat the adverse impact of Climate Change ?
(A) Establishment of Clean Development Mechanism (CDM)

(B) Investment of Rs. 100 crores as an initial corpus under National Adaptation Fund
(C) Not attended the 19" Meeting of BASIC at Sun City, South Africa held recently
(D) Ali the above are true

9Ra & qfge 7 frafafad § @ o9 o1 %o Soary aiad o gorma o Had § 89 T8 2 7
(A) FeiF Saeui=< Ak (CDM) Y T

(B) I UBIUTH §8 & 7arid 100 HUS B, 1 YR 1Y & &9 A fas

(C) =ret & # aftror srshYert & g Tt o smanfsa BASIC & 19 ot 3o 3 i 7 2T

(D) 3wlHa gsft e a9 §

14 Set-A
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39. Match List — | with List — Il and select the correct answer using the codes given below

the lists :
List -1 List-1l
a) Inequality Re-examined i) Joseph E. Stiglitz
b) The Price of Inequality ii) Thomas Piketty
c) Inequality : what can be done iii) Amartya Sen
d) The Economics of Inequality iv) Anthony B. Atkinson
Codes :

a b c d

(A) iv i i

(B) iii v i i
(C) ii il [ iv
(D) i i v i
?ﬁﬁ—iﬁa\%ﬁ—llﬁgﬁﬁaaﬁsﬁtqﬁ%m@@ﬁéaﬁwmwﬁ
it -1 g -
a) 3hmaifer d-vwente i) s 3. fefres
b) & wigH AT FEaiferd! i) uimg foehendl
¢) sfeaiferdl : are oA &l & i) el |4
d) T geRATEE 31 et iv) Tt ot wefere
He ¢
a b c d
(A) iv il i [
(B) iii v [ i
(C) i il i iv .

(D) iii i iv i

15 Set-A
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40. Match List — | and List — Il and select the correct answer :

List—1
a) Chakravarty Committee
b) Narasimham Committee
c) Tendulkar Committee
d) Chelliah Committee

Codes :

(C) i il iv o

o) i v i

List-1I
i) Tax Reforms
ii) Poverty Estimation
iii) Banking Sector Reforms

iv) Financial Sector Reforms

T — | 1 g - | 9 gaferd st o et 37T 1 =

Tt - |
a) ehad] gt
b) fEew wfifa
c) dgereRt wfufa
d) =¥ gty
L -

a b c d
(A) i ii i iv
(B) iv i i ii
(C) ii iii iv i
(D) i iv i i

16

gt - Il
i) & FIR
i) fefaar s
jii) <ifRm &3 gum
iv) faeig & geur

Set-A
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41.

42.

43.

The methodology followed for poverty estimation by using 61t NSSO data in 2004-05 is
(A) Uniform Recall Method (URM) only

(B) Mixed Recall Method (MRM) only

(C) Both URM and MRM

(D) None of the above

2004-05 % 61 3 TH. wH. . 3. STl § Freian srere w3 % forg faftr syommf e 2

(A) T Rehler Aors (4 3TR.TH.)

(B) fhaws fepict BUS (TH.IR.WA.)

(C) 4N UH. 3N T.IR.TH.

(D) T & #1g el

Which of the following is not true for National Food Security Act ?
(A) It provides legal entitiement to 67 percent of population at subsidised food

(B) It covers 75 percent of rural population and 50 percent of urban population

(C) Ithas only two schedules which prescribes for issue of price and nutritional standards
of food
(D) Ali of the above

T @ GRE S o wed § A |1 e wed el & 7

(A) 67 IRITa ST o i €Y § Tfetd 9t @ra YeT e B ,

(B) =g 75 Wirera Imfioy sFEen St 50 feerd TRl SEEAT Y Aesied w8

(C) T6% ot O T=R § SN shiwd hI g it e Y dfeesrar & w1 fuiid o g
(D) 3yl g+t

National Manufacturing Policy was introduced by the Government of India in

(A) 2010 (B) 2011
(C) 2012 (D) 2013
sty fafamtor ife TR TR g ST Al T e
(A) 2010 (B) 2011 .
(C) 2012 (D) 2013
17 Set-A
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44.

45.

46.

47.

The policy for Special Economic Zone (SEZ) was introduced in the country for the first
time in

(A) 1991 (B) 2000

(C) 2005 (D) None of the above
QY RIS S (9.3, Sig) 1 ifa 3u o uselt IR s 1 et off
(A) 1991 (B) 2000

(C) 2005 (D) 39 | FIg T

Which of the following is not an vision of 12" Five Year Plan

(A) Real GDP growth rate of 8 percent

(B) Agricultural growth rate of 4 percent

(C) Head count ratio of consumption poverty to be reduced by 10 percent points
(D) All of the above

el erendtar e 3 el § @ an forg T 2 7

(A) 8 ufera st <t €Lt femra X

- (B) 4 ifemma Y forshra &

(C) ufa =afera susarn fefar 10 wfwra e 9 T

(D) IWga gt
Ribozymes are
(A) DNA (B) RNA
(C) Proteins (D) None of these
TEEASITEH Bid @
(A) &t T, (B) X, TH. U,
(C) s (D) & g e
The foul smell of dead fish is due to the compound
(A) Amino compounds (B) Aldehydic compounds
(C) Sulphur compounds (D) Nitro compounds
Ta aoel & Freher arelt gy fo5 vt A Fror R } 7
(A) i 2R (B) ufeemsies e
(C) wew Afiren (D) =g Afreh
18 Set-A
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48.

49.

50.

51.

Non-stick frying pans are coated with
(A) Orlon (B) T1cflon
(C) Polystyrene (D) Polypropylene
J- s Wi werdl # 99 @ T @
(A) A (B) uetid
(C) urefleensie (D) wrefigivigier
Poisonous mustard gas is a
(A) Gas (B) Liquid
(C) Solid (D) None of the above
T T T Bl ®
(A) & (B) A
(C) 3@ (D) sudekd § & 415 &
The chemical used in manufacturing of dynamite is
(A) Glycerol
(B) Glycerol triacetate
(C) Glycerol trinitrate
(D) Glycerol triiodate
STeTTEe 3 Fmtor § W g arer TEries (Chomical) &
(A) TTEET
(B) AT gIETHICE
(C) TTEHTS ZIEATELE
(D) TEEHTS TRIRTES
What percentage of alcohol in human blood causes death ?
(A) 2.0 (B) 3.0
(C) 5.0 (Dy 7.0
e T 1 STespreet 61 Reat sl T gy 1 AR ardt 2 7
(A) 2.0 (B) 3.0 -
(C) 5.0 (D) 70
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52. The term Information Technology can be defined as
(A) Computers + Connectivity
(B) Computers + Network
(C) Hardware + Software
(D) Connectivity + Hardware

T ITenfiehY st aienfyd s Fehd ®
(A) Froed + safaefad

(B) wged + AT

(C) A3 + TRAIN

(D) FAfRfe + sréasw

53. How many bits are there in a kilobyte ?

(A) 1024 (B) 1000
(C) 8024 (D) 8192
T fepettamse 3 fopa forga € & 7

(A) 1024 (B) 1000
(C) 8024 ' (D) 8192

54. Which of the following is not an output device ?

(A) Monitor (B) Touchscreen
(C) Printer (D) Plotter -
frfriad 3 & A snseye fearea 7€ 7
(A) TR (B) T=EhM
(C) fr=z (D) =i

55. Which of the following is not an open source software ?
(A) Internet explorer (B) Google chrome
(C) Linux (D) Open office
Frerferfm 3 & 9 % s A iAo 7E 3 7 _
(A) TTEZ TR (B) TI®M
(C) forag (D) i iTFE
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56.

57.

58.

59.

The Golden Rice contains {3 -carotene gene which comes from

(A) Carrot (B) Daffodil
(C) Beetroot (D) Papaya
g el § S-S0 S el § AR ?

(A) TR (B) 2wifew

(C) IF (D) udften

Panch Dhara Yojana is related to

(A) River Water Management

- (B) Women Welfare and Development

(C) LPG Distribution

(D) Underground Water Management
YR AT T ©

(A) T 5/ WA |

(B) T gt wd faewra @

(
(C) wa. . sfi. faaqwr &
(D) T YA 9

White Bud disease in plant is caused by deficiency of

(A) Zinc : (B) Copper
(C) Boron (D) Manganese
o 5 A1ge g€ U fraeh i @ Ea ® 7

(A) 5= (B) I

(C) s : (D) H
White colour of milk is due to

(A) Casein (B) Albumin
(C) Lactose (D) Globulin
U T %S TT &1 &

(A) i & (B) T @ -
(C) dR= & (D) wigfer &
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60.

61.

62.

63.

64.

The web portal DACNET is related to

(A) e-Agriculture (B) e-Commerce

(C) e-Business (D) e-Logistics

39 9ée DACNET @raif4a @

(A) 3-ThishesR & (B) 3~ &

(C) 3-fosmm @ (D) 3-wnfaifeesd |

What was the Santhal Pargana region called in ancient times ?

(A) Narikhand (B) Man-Varjikah

(C) Kartasina (D) None of these

TYTA GO & Y AT I sh1ed | 7 gl STrm o7 7

(A) @S (B) WH-afSieh:

(C) warfn (D) 37 & =15 7

Safa-Hor movement is associated with which tribal community ?
(A) Munda (B) Ho

(C) Santal (D) Kharia

TIH1-ER 3MTareH g anfeard wqem @ wafta 2 7

(A) g (B) ®

(C) ware (D) wfem

Who among the following is a primitive tribe ?

(A) Kawar (B) Kora

(C) Karmali (D) Korwa

FrafaRaa & @ =9 enfen Senfa & 7

(A) &R (B) I

(C) Fred! (D) En

‘Andi’ and ‘oportipi’ forms of marriage is related to which tribe ?

(A) Ho (B) Paharia

(C) Munda (D) Oraon

‘Sl IR AR W @ sEfaa faems fra enfiard anem @ wefta R 7

(A) & (B) werfgan

(C) ge (D) g
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65.

66.

67.

68.

Which of the following temples was built by the ruler Pooranmal ?
(A) Jagannath temple at Ranchi

(B) Shiva temple at Devghar

(C) Pahari Shiva temple at Ranchi

(D) Bhadrakali temple at ltkhori

, STTEe O o g Fefaiaa # @ forg wie @ Fmfor semn wn ?

(A) T=h fedra s A
(B) <R fevm fira Af
(C) T fedrg werel g Af
(D) seErl feda wsehredl Af

Mahuadanr sanctuary is located in which district of Jharkhand ?

(A) Palamu (B) Koderma

(C) Chatra (D) Latehar
T ST S ¥ e R it 7

(A) T (B) it

(C) =qu (D) WTER

‘Anjan Dham’ is located in which district of Jharkhand ?

(A) Gumla (B) Garhwa

(C) Giridih (D) Godda

‘s u’ gREs & fre e A R 7

(A) TAeT (B) Tean

(C) fifeie (D)
Jharkhand'’s resident Deepsen Gupta is associated with which sport ?
(A) Archery (B) Basketball

(C) Athletics (D) Chess

g et s T w1 AW fFe ea a e g e ? .
(A) st (B) sTeheatd

(C) wuafaw (D) YRR
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69.

70.

71,

Which litterateur has published the Khortha Compilations namely ‘Meghdoot’ ?
(A) Bhuvaneshwar Dutt Sharma ‘Vyakul’

(B) A.K.Jha

(C) Naresh Prasad Singh

(D) Srinivas Panuri

@wémﬁwwm‘ﬁa@’wﬁ%awﬁ%m?
A) YEIvER &9 YT ‘e’

(B) T . 7

(C) = yare faw

(D) #ffEma agd

‘Rijgarh’ in Munda tradition is related to which place ?
(A) Rohtasgarh

(B) Beejangarh

(C) Paligarh

(D) Rajgir

1 W 1 ‘T’ e Toe & wefia © 7
(A) UgarTg
(B) siTe

(C) urefig
(D)Iﬁﬁﬁ(

What is Friendship — 2016 ?

(A) The joint military exercise by the soldiers of Russia and Pakistan
(B) The joint military exercise by the soldiers of America and India
(C) The joint military exercise by the soldiers of India and Afghanistan

(D) The joint military exercise by the soldiers of India and Kajhakhastan
Fefi - 2016 7T 8 ?

(A) &4 TR rferea o Gl g0 fora man sy g |

(B) R 3R wRA o Afeni g1 foman T wigea e |

(C) wRa R rwmiwee & |fehi g0 forn man vy gerwm |
(D) WRa 3R swsmawaH & dfent gr forn T Ty e |
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72.

73.°

74.

75.

786.

Where was the 14" ASEAN-India Summit organised ?

(A) Vientiane (B) Islamabad

(C) Dhaka (D) Davos

14 9 ST W RRer griier 7 sTie el B ma o 7

(A) foafeas (B) TEATHIETE

(C) @rht (D) T@Em\

What is the name of the world’s first private flight plan to go on the moon ?
(A) Moon Express (B) Moon Flight

(C) Chandrayaan (D) Moon Mail

SHT RS % fore g Y veelt wéde vemde Ao w5 am

(A) 77 TS (B) T veirge

(C) =z@™ (D) T4 ¥
Afghanistan’s First Lady Governor is

(A) Malala Yusufjahi (B) Masooma Muradi
(C) Farida Sheikh (D) Chand Usmani
FETIeT Y gt afeer Tk @

() FeTe JgHSTEl (B) =rgmm T

(C) wer s (D) =T IeqTA

The country Tuvalu participated with how many members in the Rio Olympfcs ?
(A) 5 (B) 3

(C) 1 D) 9

fe sifafeias o qare] a3 Rray waedt/sfenfirt & aror fea v o 7
(A) 5 B8) 3

(C) 1 (D) 9

Where was the World Economic Forum Meet-2018, organised ?

(A) Switzerland (B) Laos

(C) Austria (D) France
%saanfafaﬁawﬁm—zme(WEF)a»ﬁwsMﬁﬁgé? )
(A) fezsets (B) wsig

(C) wifegan (D) wta
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77.

78.

79.

80.

World's first country to have cashless economy

(A) Canada (B) Sweden

(C) France (D) Belgium

farva 1 WO ey STfIEET JTET 9%

(A) e (B) wHted

(C) & (D) afesrm

Who was the youngest Athlete at the Rio Olympics ?

(A) Deepa Karmakar (B) Virginia Thrasher
(C) Gaurika Singh (D) Emily Seebohn
T siferfrdese < gerd gan wurefie i ot ?

(A) T FHHETR (B) =wshifs=m 93w
(C) it fifg (D) ufireh Hiared

According to the Rural Cleanliness Survey, which state is at the top of ladder as far as

- cleanliness is concerned ?

(A) Jharkhand (B) Sikkim

(C) Kerala (D) Telengana

TITHIOT AT HAEU % STER Wesdl & IS § Ted S HE 91 T B 7
(A) FREvS (B) fafern

(C) (D) WeRTHT

‘Gatiman Express’, the fastest Indian train on 4™ April, 2016 ran from

(A) New Delhi to Lucknow

(B) Hazrat Nizamuddin to Agra

(C) Delhi to Chandigarh

(D) Mumbai to Pune

9ied o gaifires i @ Seared 39 i wwaiE’, 4 3, 2016 i S -G-Hal aoh a7
(A) 7 feoett @ o 9
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81. What was India’s rank at the Rio Para-Olympics ?

(A) 420 (B) 43¢
(C) 44 (D) 32
ey du-aniferfries o W wH-3 TH | @ 7

(A) 429 (B) 433
(C) 443 (D) 324

82. What was the name of the legendary Ranthambore Tigress that died recently ?

(A) Machhali (B) Sonal
(C) Sherry (D) Shatrujeet
TR St Wi e foreshl 81 @ 6 7oy §8 8, SEe A w @
(A) woe (B) &=
(C) = (D) wigsfta
83. India’s first armed nuclear submarine is
(A) LN.S. Tihayu (B) LN.S.Virat
(C) LN.S. Arihant (D) LN.S. Astradharini
WG 1 Ige! TS GO gges §
(A) 3. @. . fieg (B) . @ wH. fore
(C) *T%. T. wm. e (D) 7. TA. TE. Ireeioht

84. Project LOONis related to
(A) Waste-Management Technology
(B) Wireless Communication Technology
(C) Solar Energy Production Technology
(D) Water-Conservation Technology
Wi o (LOON) wafera 3
(A) STufiTe-yeea Nafieh @
(B) SR H=R SRIfRA &
(C) ©R it Jedres WreNfirhl & .
(D) STA-TRET0T TreNfEht o
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85.

86.

87.

88.

‘Stand-up India’ Scheme’s purpose is

(A) To encourage entrepreneurship among the SC/STs and women entrepreneur

(B) Toencourage entrepreneurship among the entrepreneurs of the Backward Classes
(C) Toencourage entrepreneurship only among the entrepreneurs of Scheduled Castes
(D) To encourage entrepreneurship only among the women entrepreneurs

We-3y sfean @i =1 ygem

(A) gl sfa /sl wa wfeen safie o safim w1 werfed s e |
(B) T ot & safir # Sufir w weafea w2 |

(C) fuk erggfa wife & safel 4 Safiar =i diedea w2 |

(D) Tk nfgen sufiEl & sufiar w weafed w2 |

The first prize of the National Human Rights Commission has been awarded recently to
which movie ?

(A) Pink (B) Black and White
(C) Red and White (D) Black
TSR WHETRERR TENT 1 Ueal JEhR B1d 8t ¥ forer fohew o1 faem @ 7
(A) fie (B) sAeh Wg aTEe
(C) & we are (D) =¥
Eradication of all types of social discrimination comes under which generation of
Human Rights ? ‘
(A) First generation (B) Second generation
(C) Third generation (D) Fourth generation
vl WeRR & GrHTiSreR fase ST 3RIeH AR Y fohg digl o st otan § 7
(A) weeh did (B) @t e
(C) e dich (D) =ieft dich
Cartajena protocol is related to
(A) Biosafety agreement (B) Pollution
(C) Ozone depletion (D) Climate change
HTINAT TSI T Ta9 3
(A) St gan gusd ¥ B) wmd
(C) S &0 | (D) SreTEry uitEedd |
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89.

90:

91.

92.

93.

Where is the headquarter of the United Nations Environment Programme (UNEP) ?
(A) The Hague (B) Nairobi

(C) New York (D) Washington D.C.

g T Faiawyr wriswH (UNEP) &1 J6aTed %el @ 7

(A) BE0 (B) W&

(C) =Fmh (D) afimes .4,

Deepika Pallikal is related to which sport ?

(A) Squash (B) Handball

(C) Badminton (D) Tennis

Siftept geeleret forer @t @ wafta g 7

(A) T (B) =Tl

(C) asfied (D) =

Velodrome is related to which sport ?

(A) Tennis (B) Fencing

(C) Boxing (D) Cycling

Jeliem fore ©wa @ gafea ® 7

(A) 2fa (B) aTaETSIt

(C) gerhasht (D) wgferam

‘Sanghmitra Kalita’ has been honoured with which award recently ?

(A) Pulitzer Award (B) Bookers Award

(C) Gyanpeeth Award (D) The Legion of Honour
‘e i =l e 8 3 e orard @ wanfra R g ?

(A) gfreer srare (B) Tohd smre

(C) TS 3rate (D) g &S 316 B
‘Navnathan Pillai’ has been honoured with which award ?

(A) Bookers Award ‘ (B) Pulitzer Award

(C) Oscar Award (D) The Legion of Honour
‘Tarrer Tueers’ o form otand @ wefa R e B 7

(A) T e (B) gfereer sre -

(C) AT a1 (D) T wfeH 316 g
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94.

95.

96.

Where is the National Ccnter for Disaster Management (NCDM) located ?
(A) Nagpur

(B) New Delhi

(C) Hyderabad

(D) Pune

Jeret Tex B festreet BAwme (NCDM) el ferd 8 7

(A) TR
(B) 78 feedi
(C) aUeTe
)

(D)

When did the Prim: w40 a2 adra Modi launch National Disaster Management Plan
(NDMP) ? "

(A) 1%t June (B) 2™ June

(C) 39 June (D) 1 May

TEE A W T - - WA - ST (NDMP) e SRY 6 ?
(A) 15 (B) 2

(C) 3¢ (D) 1 ué

The cyclic. poor are thosc
A
B

(A) Who always reria o 00or

(B) Who continucusly shuffle between being poor and non-poor
(C) Who mostly remain non-poor bit sometimes they become poor
(D) All of the above

wsh g 3 @

(A) s wg fgT w

(B) S Faw faek 2 Mt 3 e

(C) < atfmsier e &rft - 1 TET-sey A @ © | ’

(D) Swd @+ft
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97.

98.

99.

100.

Disguised unemployment means

(A) Unemployment resulting from change in technology
(B) Fall in productivity of labour

(C) Marginal productivity of labour is zero

(D) People in large numbers remaining unemployed

TEF~ SUSHTRY =67 371 B

(A) TR & afEda B Sea=T ST
(B) %W <Y IcaTEehdl T HH BT

(C) »m =Y Hiuig IedTeeharl T 2

(D) =€l arErE ¥ AN T SUSTIR &

‘Rajiv Awas Yojana (RAY)' that was started in 2011 has been granted extension till

(A) 2016 (B) 2020 \
(C) 2021 (D) 2022

TS AETE AT S 2011 H I S o, 38 e ok o foru feranfa fopan @ 2

(A) 2016 (B) 2020

(C) 2021 (D) 2022

United Nations Organisation (U.N.Q.) is celebrating 2016 as the

(A) International Co-operative Year (B) International Youth Year
(C) International Bio-diversity Year (D) International Pulses Year
2016 ! BT T 9 o FRT fored &9 & v s w1 2 7 ;

(A) SR Fewhiar ay (B) sl gan oy

(C) iatiedi Sa-fafeerar od (D) TaUs geted oy

Who is 195" member of UNESCO ?

(A) Palestine (B) Kazhakhisthan

(C) Croatia (D) South Sudan

IR (UNESCO) &1 195 af G s & 7

(A) rforia | (B) heliaea™

(C) srufirn (D) =féorgam -
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